GENERAL CONSTRUCTION CONTRACT

THIS CONTRACT made on	, by and between the CITY OF MERCED
a municipal corporation of the State of California,	hereinafter called the Owner, and
TBS CONTRACTORS, hereinafter called the Contra	actor:

WITNESSETH:

That the parties hereto have mutually covenanted and agreed, and by these presents do covenant and agree with each other, as follows:

- CONTRACT DOCUMENTS. The complete contract consists of the following documents, to wit:
 - (1) This General Construction Contract;
 - (2) Faithful Performance Bond;
 - (3) Laborers and Materialmens Bond;
 - (4) Guaranty;
 - (5) Special Provisions for ALPINE DR G ST TO WAINWRIGHT AVE IMPROVEMENTS;
 - (6) Amendments to the Standard Specifications;
 - (7) Project Plans;
 - (8) Standard Specifications;
 - (9) City Standards;
 - (10) Proposal:
 - (11) Instructions to Bidders;
 - (12) Notice Inviting Bids;
 - (13) Bidder's Bond:
 - (14) Notice of Determination of Prevailing Wages;
 - (15) List of Subcontractors and Material Dealers; and
 - (16) Safety Provisions.

Any and all obligations of the Owner and the Contractor are fully set forth and described therein.

All of the above documents are intended to cooperate so that any work called for in one and not mentioned in the other, or vice versa, is to be executed the same as if mentioned in all said documents. The documents comprising the complete contract are sometimes hereinafter referred to as the Contract Documents. In case of conflict between any of the documents, the order of documents first listed above shall be the order of precedence's, with the first item listed having the highest precedence.

2. THE WORK. Said Contractor agrees to furnish all tools, equipment, apparatus, facilities, labor, transportation, and material necessary to perform and complete in a good and workmanlike manner all work of improvement in accordance with Contract Documents in the manner designated in, and in strict conformity with, the Plans and Specifications for PROJECT NUMBER 119006, which said Plans and Specifications are entitled, "ALPINE DR - G ST TO WAINWRIGHT AVE IMPROVEMENTS," for construction in Merced County in Merced, and which were included in the award of bid made by the City Council of the City of Merced on . 2020.

It is understood and agreed that said tools, equipment, apparatus, facilities, labor, transportation and material, except materials to be supplied by the City as designated in the Contract Documents, shall be furnished and said work performed and completed as required in said Plans and Specifications under the sole direction and control of the Contractor, and subject to inspection and approval of the Owner or its representative. The Owner hereby designates the City Engineer as its representative for the purpose of this Contract.

3. CONTRACT PRICE. The Owner agrees to pay, and the Contractor agrees to receive and accept the following prices as full compensation for furnishing all materials and doing all work contemplated and embraced in this agreement to wit:

ITEM		UNIT OF	ESTIMATED	UNIT		ITEM	
NO.	ITEM	MEASURE	QUANTITY	PRICE		PRICE	
	Schedule A:						
1	Permits, Bonds & Licenses	LS	1	\$	5,700.00	\$	5,700.00
2	Public Convenience and Safety	LS	1	\$	7,109.04	\$	7,109.04
3	Water Pollution Control	LS	1	\$	5,194.41	\$	5,194.41
4	Street Sweeping	LS	1	\$	3,420.00	\$	3,420.00
5	Surveying Services	L\$	1	\$	4,354.80	\$	4,354.80
6	Monumentation	LS	1	\$	3,562.50	\$	3,562.50
7	Earthwork	LS	1	\$	2,850.00	\$	2,850.00
8	Portable Changeable Message Sign	EA	1	\$	3,990.00	\$	3,990.00
9	Adjust Utility Box to Grade	EA	5	\$	741.00	\$	3,705.00
10	Asphalt Grinding and Disposal (3")	SF	40682	\$	0.60	\$	24,409.20
11	Remove Aspahlt Concrete and Base	SF	700	\$	4.81	69	3,367.00
12	Asphalt Concrete Overlay (3")	SF	40682	\$	2.04	\$	82,991.28
13	Asphalt Concrete Patch on Local Street (3"AC/11"AB)	SF	509	\$	8.43	\$	4,290.87
14	Asphalt Concrete Patch on Arterial Street (5.5"AC/20.5"AB)	SF	191	\$	18.04	\$	3,445.64
15	Remove Concrete	SF	5511	\$	1.93	\$	10,636.23
16	Concrete Sidewalk	SF	376	\$	8.16	\$	3,068.16
17	Remove Concrete Curb and Gutter	LF	265	\$	20.09	\$	5,323.85
18	Concrete Rolled Curb and Gutter	LF	235	\$	57.02	\$	13,399.70
19	Concrete Verticle Curb and Gutter	LF	30	\$	104.54	\$	3,136.20
20	ADA Access Ramp	SF	247	\$	20.87	\$	5,154.89
_21	Concrete Cross Gutter	SF	4013	\$	8.12	\$	32,585.56
22	Traffic Stripes and Pavement Markings	LS	1	\$	1,898.10	\$	1,898.10
23	Install Project Funding Sign	EA	2	\$	855.00	\$	1,710.00
24	Restoration	LS	1	\$	3,417.72	\$	3,417.72
	Total Items 1 thru 24:					_\$	238,720.15

	Schedule B:						
1	Permits, Bonds & Licenses	LS	1	\$	5,700.00	\$	5,700.00
2	Public Convenience and Safety	LS	1	\$	8,743.80	\$	8,743.80
3	Water Pollution Control	LS	1	\$	5,764.41	\$	5,764.41
4	Street Sweeping	LS	1	\$	3,420.00	\$	3,420.00
5	Surveying Services	LS	1	\$	2,428.20	\$	2,428.20
6	Monumentation	LS	1	\$	1,425.00	\$	1,425.00
7	Portable Changeable Message Sign	EA	1	\$	3,990.00	\$	3,990.00
8	8" C900 Water Main	LF	1491	\$	99.09	\$	147,743.19
9	12" Gate Valve	ĒΑ	2	\$	5,585.56	\$	11,171.12
10	8" Gate Valve	EA	7	\$	3,173.29	\$	22,213.03
11	6" Gate Valve	EA	6	s	3,143.06	\$	18,858.36
12	Remove and Install Fire Hydrant Assembly W/Valve	EA	4	\$	7,538.88	\$	30,155.52
13	Removal of Meter Boxes	EA	17	\$	201.04	\$	3,417.68
14	Pressure Testing and Disinfection	LS	1	s	5,696.58	\$	5,696.58
15	Connection to existing Water System	EA	5	\$	5,438.32	\$	
16	New Water Service and Box	EA	17	1		Ť	27,191.60
17				\$	3,429.24	\$	58,297.08
	8" DIP Sewer Main	LF	54	\$	141.94	\$	7,664.76
18	Pavement Markers	EA	4	\$	22.80	\$	91.20
19	Blind Flange / Slurry	EA	5	\$	276.63	\$	1,383.15
20	Restoration	EA	1	\$	7,405.44	\$	7,405.44
	Total Items 1 thru 20:					\$	372,760.12
	Total for BID Schedules A and B:					\$	611,480.27

4. TERMINATION. If the Contractor should be adjudged as bankrupt or if he should make a general assignment for the benefit of his creditors, or if a receiver should be appointed on account of his insolvency, or if he or any of his subcontractors should violate any of the provisions of the Contract Documents, the Owner may serve written notice upon him and his surety of its intention to terminate the Contract; such notice to contain the reasons for such intention to terminate the Contract, and, unless within ten (10) days after serving of such notice such violation shall cease and satisfactory arrangements for correction thereof be made, the Contract shall, upon the expiration of said ten (10) days, cease and terminate.

In the event of any such termination, the Owner shall immediately serve written notice thereof upon the surety and the Contractor, and the surety shall have the right to take over and perform the Contract; provided however, that if the surety within fifteen (15) days after the serving upon it of notice of termination does not give the Owner written notice of its intention to take over and perform the Contract or does not commence performance thereof within thirty (30) days from the date of the serving of such notice, the Owner may take over the work and prosecute the same to completion by contract or by any other method it may deem advisable, for the account and at the expense of the Contractor, and the Contractor and his surety shall be liable to the Owner for any

excess cost occasioned the Owner thereby, and in such event the Owner may, without liability for so doing, take possession of and utilize in completing the work such materials, appliances, plant, and other property belonging to the Contractor as may be on the site of the work and necessary therefor.

- 5. NOTICE AND SERVICE THEREOF. Any notice from one party to the other under the Contract shall be in writing and shall be dated and signed by the party giving such notice, or by a duly authorized representative of such party. Any such notice shall not be effective for any purpose whatsoever unless served in the following manner; namely, (a) if the notice is given to the Owner, per personal delivery thereof to the City Engineer of said Owner, or by depositing the same in the United States mails enclosed in a sealed envelope, addressed to the Owner, postage prepaid and registered; (b) if the notice is given to the Contractor, by personal delivery thereof to said Contractor or to his duly authorized representative at the site of the project, or by depositing the same in the United States mails enclosed in a sealed envelope, addressed to said Contractor at TBS Contractors, postage prepaid and registered; and (c) if the notice is given to the surety or any other person, by personal delivery to such surety or other person, or by depositing the same in the United States mails enclosed in a sealed envelope, addressed to such surety or person, as the case may be, at the address of such surety or person last communicated by him to the party giving the notice, postage prepaid and registered.
- 6. ASSIGNMENT OF CONTRACT. Neither the Contract nor any part thereof, nor moneys due, or to become due thereunder, may be assigned by the Contractor without the prior written approval of the Owner.
- 7. CONTRACT SECURITY. The Contractor shall furnish a surety bond in an amount at least equal to 100 percent of the contract price as security for the faithful performance of this Contract. The Contractor shall also furnish a separate surety bond in an amount at least equal to 100 percent of the contract price as security for the payment of all persons for furnishing materials, provisions, provender, or other supplies used in, upon, for, or about the performance of the work contracted to be done, or for performing any work or labor thereon of any kind, and for the payment of amounts due under the Unemployment Insurance Code with respect to such work or labor in connection with this Contract, and for the payment of a reasonable attorney's fee to be fixed by the court in case suit is brought upon the bond.
- INSURANCE. The Contractor shall not commence work under this Contract until he has obtained all insurance required by Section 7-3 of the Standard Specifications for Public Works Construction (1997 Edition), as amended, and such insurance has been approved by the City Attorney of Owner, nor shall the Contractor allow any subcontractor to commence work on his subcontract until all similar insurance required of the subcontractor has been so obtained and approved. Contractor shall furnish the Owner with satisfactory proof of the carriage of insurance required, and there shall be a specific contractual liability endorsement extending the Contractor's coverage to include the contractual liability assumed by the Contractor pursuant to this Contract, and particularly paragraph 9 hereof. Said insurance obtained by the Contractor shall be primary and noncontributory as to any insurance maintained by owner. Endorsement for additional insured shall be submitted on Standard form CG 20101185. Endorsement forms CG 20101001 and CG 20371001, when used together, are acceptable in lieu of CG 20101185 for Public Works projects. Any policy of insurance required of the Contractor under this Contract shall also contain an endorsement providing that thirty (30) days' notice must be given in writing to the Owner of any pending change in the limits of liability or of any cancellation or modification of the policy.

The Contractor shall furnish the City a policy or certificate of liability insurance in which the City is the named insured or is named as an additional insured with the Contractor. Notwithstanding any inconsistent statement in the policy or any subsequent endorsement attached thereto, the City shall be the insured or named as an additional insured covering the work, whether liability is attributable to the Contractor or the City. The policy shall insure the City, its officers, employees and agents while acting within the scope of their duties on the work, against all claims arising out of or in connection with the work.

The Contractor may file insurance acceptable to the City covering more than one project. The coverage shall provide the following minimum limits:

Bodily Injury...

\$500,000.00 each person

\$1,000,000.00 each occurrence

\$1,000,000.00 aggregate products and completed operations

Property Damage...

\$250,000.00 each occurrence

\$500,000.00 aggregate

A combined single limit policy with aggregate limits in the amount of \$1,250,000.00 will be considered equivalent to the required minimum limits.

The Contractor will require all subcontractors to take out and maintain bodily injury liability and property damage liability in the amounts stated above.

The Contractor and subcontractors shall save, keep and hold harmless the City, its officers and agents from all damages, costs or expenses in law or equity that may at any time arise or be set up because of damages to property, or of personal injury received by reason of or in the course of performing work, which may be caused by any willful or negligent act or omission by the Contractor, any of the Contractors employees, or any subcontractor. The City will not be liable for any accident, loss or damage to the work prior to its completion and acceptance.

All liability insurance policies shall bear an endorsement or shall have attached a rider whereby it is provide that, in the event of expiration or proposed cancellation of such policies for any reason whatsoever, the Agency shall be notified by registered mail, return receipt requested, giving sufficient time before the date thereof to comply with the applicable law or statute, but in no event less than thirty (30) days before expiration or cancellation is effective.

All insurance required by this section shall be from a California admitted insurance company.

The cost of this insurance shall be included in the Contractor's bid.

CANCELLATION CLAUSE

<u>NOTE:</u> The standard form used by insurance carriers will <u>not</u> be acceptable unless the word "<u>endeavor</u>" is crossed out where the paragraph states, "The issuing company will (endeavor to) mail . . ." A portion of the last paragraph should be crossed out, which states, "<u>but failure to mail such notice shall impose no obligation or liability of any kind upon the company."</u>

9. HOLD HARMLESS. Contractor shall indemnify and hold harmless City, its officers, employees, agents and volunteers from and against all liability, loss, damage, expense, and cost (including, without limitation, reasonable legal counsel fees, expert fees and all other costs and fees of litigation) of every nature arising out of or in connection with Contractor's negligence, recklessness, or willful misconduct in the performance of work hereunder, or its failure to comply with any of its obligations contained in this Agreement, except such loss or damage caused by the active negligence, sole negligence or willful misconduct of the City. It is expressly understood and agreed that the foregoing provisions are intended to be as broad and inclusive as is permitted by the law of the State of California and will survive termination of this Agreement. Notwithstanding the above, the Contractor shall, wherever it is necessary, keep and maintain at his sole cost and expense during the course of his operations under this Contract such warnings, signs, and barriers as may be required to protect the public. The provisions of the preceding sentence shall not impose any liability upon the Owner and are for the express benefit of the general public.

Acceptance by City of insurance certificates and endorsements required under this Agreement does not relieve Contractor from liability under this indemnification and hold harmless clause. This indemnification and hold harmless clause shall apply to any damages or claims for damages whether or not such insurance policies shall have been determined to apply. By execution of this Agreement, Contractor acknowledges and agrees to the provisions of this Section and that it is a material element of consideration.

It is expressly understood that Contractor is an independent contractor and that its employees shall not be employees of or have any contractual relationship with the City. Contractor shall be responsible for the payment of all taxes, workers' compensation insurance and unemployment insurance. Should Contractor desire any insurance protection, the Contractor is to acquire such protection at its expense.

In the event that Contractor or any employee, agent, or subcontractor of Contractor providing services under this Agreement is determined by a court of competent jurisdiction or the California Public Employees Retirement System (PERS) to be eligible for enrollment in PERS as an employee of the City, Contractor shall indemnify, defend, and hold harmless City for the payment of any employee and/or employer contributions for PERS benefits on behalf of Contractor or its employees, agents, or subcontractors, as well as for the payment of any penalties and interest on such contributions, which would otherwise be the responsibility of City.

- 10. ACCIDENT PREVENTION. Precaution shall be exercised at all times for protection of persons (including employees) and property. The safety provisions of applicable laws, building and construction codes shall be observed. Machinery, equipment, and other hazards shall be guarded or eliminated in accordance with the safety provisions of the Construction Safety Orders issued by the Industrial Accident Commission of the State of California.
- 11. PAYMENT. The Owner will make partial and final payment to the Contractor in accordance with Section 9-3.2 of the Standard Specifications, as amended, except that the Owner will retain the five percent (5%) of the final payment amount until the expiration of thirty-five (35) days from the date of recording by Owner of notice of acceptance of completion of all work covered by this Contract, if such notice be recorded within ten (10) days after the acceptance of completion of such Contract; or, if such notice be not so recorded within ten (10) days, until the expiration of ninety-five (95) days after the acceptance of completion of such work of improvement, at which time and not before, Owner shall pay to Contractor the whole of the remaining five percent (5%) of said contract price so held back as provided.

The payment of progress payments by the Owner shall not be construed as an absolute acceptance of the work done up to the time of such payments, but the entire work is to be subjected to the inspection and approval of the Owner and subject to whatever inspection and approval may be required by law.

- 12. CALIFORNIA LABOR CODE. The Contractor is aware of, and hereby agrees to comply with Sections 1770, 1773, 1776, and 1777.5 of the California Labor Code.
- 13. SUBSTITUTION OF SECURITIES FOR WITHHELD AMOUNTS. Pursuant to Section 22,300 of the Public Contracts Code of the State of California, securities may be substituted for any moneys withheld by a public agency to ensure performance under a contract. At the request and expense of the Contractor, securities equivalent to the amount withheld shall be deposited with the public agency, or with a State or Federally chartered bank as the escrow agent, who shall pay such moneys to the Contractor upon satisfactory completion of the Contract.

Securities eligible for substitution under this section shall include those listed in Section 16430 of the Government Code of the State of California, or bank or savings and loan certificate of deposit.

The Contractor shall be the beneficial owner of any securities substituted for moneys withheld and shall receive any interest thereon.

Any escrow agreement entered into pursuant to this section shall contain, as a minimum, the following provisions:

- (a) The amount of securities to be deposited;
- (b) The terms and conditions of conversion to cash in case of the default of the Contractor; and
- (c) The termination of the escrow upon completion of the Contract.
- 14. TRENCHES AND EXCAVATIONS. Should the Contractor be required to dig trenches or other excavations that extend deeper than four (4) feet below the surface, then the following clauses shall apply:
 - (a) The Contractor shall promptly, and before the following conditions are disturbed, notify the City in writing of any:
 - (1) Material that the Contractor believes may be material that is hazardous waste, as defined in Section 25117 of the Health and Safety Code, that is required to be removed to a Class I, Class II, or Class III disposal site in accordance with provisions of existing law;
 - (2) Subsurface or latent physical conditions at the site differing from those indicated;
 - (3) Unknown physical conditions at the site of any unusual nature different materially from those ordinarily encountered, and generally recognized as inherent in work of the character provided for in the contract.
 - (b) The City shall promptly investigate the conditions, and if it finds that the conditions do materially so differ or do involve hazardous waste and cause a decrease or increase in the

- Contractor's cost of, or the time required for, performance of any part of the work, shall issue a change order under the procedures described in this contract.
- (c) In the event that a dispute arises between the City and the Contractor whether the conditions materially differ or involve hazardous waste, or cause a decrease or increase in the Contractor's cost of or time required for performance of any part of the work, the Contractor shall not be excused from any scheduled completion date provided for by the contract, but shall proceed with all work to be performed under the contract. The Contractor shall retain any and all rights provided either by contract or by law which pertain to the resolution of disputes and protests between the contracting parties.
- 15. CLAIMS. This clause applies to all Contractor claims of three hundred seventy-five thousand dollars (\$375,000), or less, which arise out of this contract.
 - (a) "Claim" means a separate demand by the Contractor for (1) a time extension, (2) payment of money or damages arising from work done by, or on behalf of, the Contractor pursuant to this contract, and payment of which is not otherwise expressly provided for or the Contractor not otherwise entitled to, or (3) an amount the payment of which is disputed by the City.
 - (b) The claim shall be in writing and include the documents necessary to substantiate the claim. Claims must be filed on or before the date of final payment. Nothing herein shall extend the time limit or supersede notice requirements otherwise provided by contract for the filing of claims.
 - (c) For claims of less than fifty thousand dollars (\$50,000), the City shall respond in writing to any written claim within forty-five (45) days of receipt of the claim or may request, in writing within thirty (30) days of receipt of the claim, any additional documentation supporting the claim or relating to defenses or claims the City may have against the Contractor.
 - (1) If additional information is thereafter required, it shall be requested and provided upon mutual agreement of the City and the Contractor.
 - (2) The City's written response to the claim as further documented shall be submitted to the Contractor within fifteen (15) days after receipt of the further documentation, or within a period of time no greater than that taken by the Contractor in producing the additional information, whichever is greater.
 - (d) For claims of over fifty thousand dollars (\$50,000) and less than, or equal to, three hundred seventy- five thousand dollars (\$375,000), the City shall respond in writing to all written claims within sixty
 - (60) days of receipt of the claim or may request, in writing within thirty (30) days of receipt of the claim, any additional documentation supporting the claim, or relating to defenses or claims the City may have against the Contractor.
 - (1) If additional information is thereafter required, it shall be requested and provided upon mutual agreement of the City and the Contractor.
 - (2) The City's written response to the claim as further documented shall be submitted to the Contractor within thirty (30) days after receipt of the further documentation, or within

a period of time no greater than that taken by the Contractor in producing the additional information or requested documentation, whichever is greater

- (e) If the Contractor disputes the City's written response, or the City fails to respond within the time prescribed, the Contractor may so notify the City, in writing, either within fifteen (15) days of receipt of the City's response, or within fifteen (15) days of the City's failure to respond within the time prescribed, respectively, and demand an informal conference to meet and confer for settlement of the issues in dispute. Upon a demand, the City shall schedule a meet and confer conference within thirty (30) days for settlement of the dispute.
- (f) If, following the meet and confer conference, the claim or any portion remains in dispute, the Contractor may file a claim pursuant to Chapter 1 (commencing with Section 900) and Chapter 2 (commencing with Section 910) of Part 3 of Division 3.6 of Title I of the Government Code. For purposes of those provisions, the running of the period of time within which a claim must be filed shall be tolled from the time the Contractor submits its written claim pursuant to Subdivision (b) until the time the claim is denied, including any period of time utilized by the meet and confer conference.
- (g) The following procedures shall be followed for all civil actions filed to resolve claims subject to this clause:
 - (1) Within sixty (60) days, but no earlier than thirty (30) days following the filing or responsive pleadings, the court shall submit the matter to nonbinding mediation unless waived by mutual stipulation of both parties. The mediation process shall provide for the selection within fifteen
 - (15) days by both parties of a disinterested third person as mediator, shall be commenced within thirty (30) days of the submittal, and shall be concluded within fifteen (15) days from the commencement of the mediation unless a time requirement is extended upon a good cause showing to the court.
 - (2) If the matter remains in dispute, the case shall be submitted to judicial arbitration pursuant to Chapter 2.5 (commencing with Section 1141.10) of Title 3 of Part 3 of the Code of Civil Procedure, notwithstanding Section 1141.11 of that code. The Civil Discovery Act of 1986 (Article 3 commencing with Section 2016) of Chapter 3 of Title 3 of Part 4 of the Code of Civil Procedure shall apply to any proceeding brought under this subdivision consistent with the rules pertaining to judicial arbitration.
 - (3) In addition to Chapter 2.5 (commencing with Section 1141.10) of Title 3 of Part 3 of the Code of Civil Procedure, (A) arbitrators shall, when possible, be experienced in construction law, and (B) any party appealing an arbitration award who does not obtain a more favorable judgment shall, in addition to payment of costs and fees under that chapter, also pay the attorney's fees on appeal of the other party.
- (h) The City shall not fail to pay money as to any portion of a claim which is undisputed, except as otherwise provided in this contract.
- (i) In any suit filed under Section 20104.4, the City shall pay interest at the legal rate on any arbitration award or judgment. The interest shall begin to accrue on the date the suit is filed in a court of law.

IN WITNESS WHEREOF, three (3) identical counterparts of this Contract, each of which shall for all purposes be deemed an original thereof, have been duly executed by the parties hereinabove named, on the day and year first herein written.

ATTEST:	CITY OF MERCED, a Municipal Corporation (Herein called Owner)
By: Deputy City Clerk	By:City Manager
APPROVED AS TO FORM:	(Herein called Contractor)
City Attorney 30,355 PO# 139928	By: Contractor
ACCOUNT DATA:	TAXPAYER I.D. NO: <u>77-05739163</u>
Project No. 119006	ADDRESS: 1105 & GERARD AVE
Project Account Number(s) / Amount	Mercedica 95341
557-1106-637.65-00-119006 \$ 372,760.12 078-1145-637.65-00-119006 \$ 208,637.35	PHONE 209-384-8424
075-1145-637.65-00-119006 \$ <u>30</u> ; 082-80	FAX: 209-384-7629
Total \$ 6111480.27	EMAIL: estimatinga tayloeback from
Finance Officer Verification V-9197 Funds Over 101010 WA 1014120	(SEAL)